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General Instructions: -
® There are total 40 questions in this question paper.
® All questions are compulsory.
® Each question carries 2 marks.
® Four options are given for each question, choose the correct option.

® There is no negative marking for wrong answers.

1. When did the French Revolution begin?

a) 1776 b) 1789
c) 1799 d) 1804
TRIHTET T Fe O g2
a) 1776 b) 1789
c) 1799 d) 1804
2. What does the term Bourgeoisie refer to in the French Revolution?
a) Nobility b) Clergy
c¢) Middle Class d) Peasants
HITET T | 9o 9Te3 HT F47 o1 572
a) Ferar b) aTET
C) HeT W a9 d) e
3. Which political club was founded by the Radical Jacobins?
a) Royalists b) Moderates
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c¢) Conservatives d) Jacobins

Fgqft ST o o TS e st T i o2

a) TST9<h b) IETATET
¢) wigarat d) Sifam
4. When did Napoleon Bonaparte declare himself Emperor of France?
a) 1799 b) 1804
c) 1815 d) 1821
AT SATITE o G& T 6 FT TS FHd qIT0d /T2
a) 1799 b) 1804
c) 1815 d) 1821
5. What is the Holocaust associated with?
a) World War 1 b) Russian Revolution
c) American Revolution d) World War I
BefrerTes e Heee 22
a) w9 o 15 b) ==Y wifa
¢) sy wify d) B a1
6. Which is the largest river in India?
a) Ganga b) Brahmaputra
c) Godavari d) Krishna
AT T qa8 S0 T4 -1 7
a) T DERKE
ORIEIEE d) Four
7. What is the latitudinal extent of India?
a) 8°4'N to 37°6'N b) 8°4'N to 35°5'N
) 6°8'N to 37°6'N d) 6°4'N to 35°5'N
e T wreAvefir T e 22
a) 8°4'N 7 37°6'N b) 8°4'N ¥ 35°5'N
¢) 6°8'N & 37°6'N d) 6°4'N & 35°5'N
8. Which is the northernmost mountain range in India?
a) Vindhyas b) Aravallis
c¢) Himalayas d) Western Ghats
AT T T8 AL Tad @AT -8 52
a) fex VEREE
¢) AT d) aferfy =me
9. Which soil type is most suitable for growing cotton?
a) Alluvial soil b) Red soll
¢) Black soil d) Laterite soll

FATH I 6 (T -t W g T 872
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a) STAtE gt HEIEREE

DEIEIREE d) srexrse fagr
10. Which river is known as the "Dakshin Ganga'?
a) Krishna b) Godavari
¢) Kaveri d) Mahanadi
Tore &1 T "STE00T ST 3 ATH " ST ST g2
a) FouIT YRIEER]
c) et d) wETaT
11. What is the main feature of a democracy?
a) Rule by one-person b) Rule by military
c) Rule by the people d) Rule by religious leaders
AT T qed TAeraar #4772
a) Teh Tk gILT ATaH b) |AT STIT aTEA
C) ART GTT 9TTHE VEUEECIE AR EIGE]
12. What is the term used for a system where people elect their representatives?
a) Autocracy b) Democracy
c) Monarchy d) Oligarchy
THT STOTeAT 3 TorT T ore SEqATe T SITar & STgl T orae ITAf= et 7 9= F:ied 82
a) fAieperar b) ST
C) TTSLTRT d) Fetaas
13. Which country is an example of a direct democracy?
a) USA b) China
¢) India d) Switzerland
FIA-HT T T ATHTT T IATEL g2
) AT b) =
C) ATET d) Faeseaie
14. When was the Indian Constitution adopted?
a) 26 January 1947 b) 26 January 1950
c) 15 August 1947 d) 26 November 1949
AT HAGTT Fd FAATAT 7T AT?
a) 26 AT 1947 b) 26 ST 1950
C) 15 31TEq 1947 d) 26 qEET 1949
15. Who is considered the architect of the Indian Constitution?
a) Mahatma Gandhi b) B.R. Ambedkar
c¢) Jawaharlal Nehru d) Subhash Chandra Bose
AT | T FAar e 747 Srar 82
a) WETHT et b) &T.31T. ST
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C) STATELATT Ag& d) TATT =% a9
16. What is the main occupation in rural India?

a) Industry b) Services
c) Agriculture d) Mining
THIOT A | T HaqT #7872
a) =T WEENY
¢) For d) @«q
17. What is the term for the money spent on producing goods and services?
a) Investment b) Income
c) Expenditure d) Capital
FEQRT ST HATS * ICATEA I @A [T T & il F9T Fgd 52
a) aer b) ==
c) = d) gt
18. Which sector is known as the primary sector?
a) Manufacturing b) Agriculture
c) Services d) Construction
TR &7 T YT & F €9 § ST 11 872
a) fafamior b)
DEELY d) fReToT
19. What is the literacy rate of India according to Census 2011?
a) 74.04% b) 65.38%
c) 84.12% d) 72.36%
STRTUET 2011 % STIETE ST ol ATl &2 T 82
a) 74.04% b) 65.38%
c) 84.12% d) 72.36%
20. Which organization collects data on unemployment in India?
a) NSSO b) RBI
c) SEBI d) CSO
AT H SRS T 2T HIH-97 ToT THT HdT 62
a) NSSO b) RBI
c) SEBI d) CSO
21. The Tropic of Cancer passes through how many Indian states?
a)8 b) 9
c) 10 d) 11
Feh T Tohae AT TSAT & ZIohT [Tl 572
a)8 b) 9
c) 10 d) 11

22. What was the main aim of the Green Revolution?
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a) Increase industrial production\ b) Reduce pollution

c) Increase service sector output d) Increase agricultural production
ST HITT T T 329 FIT 4T?
a) TR IeaTeT FEET b) T FH FHIAT
C) TAT & FT IUTaH FETT d) FTr IcaTET T@™T
23. Which fundamental right ensures equality before law?
a) Right to Freedom b) Right to Equality
¢) Right to Religion d) Right to Education
FI-HT HITeTh ATIRTE HIGT F THEA THAAT GATHT FLAT 872
a) TAAAAT T AfAFT b) FHTHAT T TfAFTT
C) & T ATEFRTT d) fore =7 srfaerRTT
24. What is the term for resources that can be replenished?
a) Non-renewable resources b) Renewable resources
c) Fossil fuels d) Reserves
I FETEAT o o710 F4T 9751 g (Srenl T I ol ST Fehelt 52
a) Aoty g9req VEEIETSIRREIRE
¢) sframed See d) e
25. What was the symbol of the Nazi Party?
a) Hammer and Sickle b) Tricolor
c) Red Flag d) Swastik
TSI 9TET T T AT IT?
a) ZATET 3T T b) faam
C) AT =T d) FaTEd®
26. What is the official language of India?
a) English b) Hindi
c) Bengali d) Tamil
ATEA T SATTERTI qTHT T 82
DELEL b) &t
DERIEI d) afeer
27. Which event is considered the start of World War 1?
a) Bombing of Hiroshima b) Battle of Verdun
¢) Invasion of Poland d) Assassination of Archduke Franz Ferdinand
7 =eaT &1 wue o 5 T [esa AT ST g2
a) RO o2 swarr b) & &t A=
C) T g U< ATHAT d) SITHSIF ShIST FHiede il geaT
28. Which layer of soil is most fertile?
a) Topsoll b) Subsoll

JHARKHAND COUNCILOF EDUCATIONALRESEARCH AND TRAINING, RANCHI



c) Bedrock d) Regolith
gt 7 FI-H 7T q99 ITATS: 272

a) T oy b) el sy
C) ATLTIAAT d) mrferer
29. Who is responsible for the implementation of laws in India?
a) Judiciary b) Executive
c) Legislature d) Police
A § FIAT F HIATGAT o o0 DI SRR g2
a) =TIYTIeTeRT YEIREIEED
DAEEURED d) I
30. What is the primary source of energy in rural areas?
a) Coal b) Electricity
c) Biomass d) Wind
TTHTOT 2137 | 1T T ATATHE &1 F47T 82
a) AT b) fersteft
¢) ATTTHTH d) Taq
31. Where is the Wall Street Exchange?
a) America b) Britain
c) France d) Germany

AT Tele UFTAS Fgl 8?2

a) AT b) fores
c) e d) ST
32. Which method of cultivation was adopted by the white settlers in the USA?
a) shifting cultivation b) primitive cultivation
C) intensive agriculture d) none of the above
T 5T FTHIHT | T ATtaa | g @t & wia-d1 &t srare T o2
a) AT gl b) sfaw &T
c) T FHfT CESEEEIERED
33. The wind blowing in the northern plains in summers in known as -
a) Kaal Baisakhi b) Loo
¢) Trade winds d) None of the above
AT | I HSTHN § T&7 ATAT ZaT &l FAT Fgd & -
a) T SaTEt (b) T
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c) SATATI Zard O ESEEEIERE

34. Which one of the following causes rainfall during winters in north-western part of India?

a) Cyclonic depression b) Retreating monsoon
c) Western disturbances d) Southwest monsoon
Aorforfaa § o F9-8a7 9 % STC-ai2rdy arr § gt F O auT HT /107 99d7 572
) EEEIIEEEE b) T gt ATHA
ORICEIRELIE] d) Tferor-afzre e

35. Migrations change the number, distribution and composition of the population in?

a) the area of departure b) the area of arrival
c) both the area of departure and arrival d) none of the above

TATE | FHIF-H &7 § TAEEAT i GeAT, fAaeer T §9=41 § 9Radq grar g ?
a) TEITT T & VENGEEIRES

C) STEAT ST ARHA I &7 &3 d) =9 ¥ FIE ARl
36. What is a poverty line?
a) The line that separates the rich and the poor
b) The line that represents the average income of a country
c¢) The minimum level of income required to meet basic needs
d) The maximum level of income beyond which one is considered wealthy

T YET FT §?
a) 9 @ ST 3T ST TS &l ST el o
b) g Y@T ST FoReT <97 T i |a T il 29Tl §
c) FAATET TETAl &l TN HTA & [olT FEL AT FT FATH FqC
d) T 7 9 Aferway Ta¥ e a1 S A THE 7T 14T 8

37. Who among the following was not the member of the Constituent Assembly?

a) Mahatma Gandhi b) Rajendra Prasad
¢) T.T. Krishnamachari d) Pt. Jawaharlal Nehru
Ferferfera & & it 9o 97 % geer ag a7
a) WETcHT et VREER LS
c) Z1.&T. FOHTAT d) URq TaTgTaTd A8®
38. Apartheid in South Africa was discrimination on the basis of-
a) Gender b) Religion
c) Race d) Economic status
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Zferor erfishT ¥ e FT Aqad oJT-

a) fefr b) &
DS d) s Rafa
39. The Indian Constitution came into effect on-
a) 26 January 1949 b) 26 January 1950
C) 26 January 1952 d) 26 November 1950
ATLATT HET el AT geT-
a) 26 A< 1949 b) 26 ==Y 1950
C) 26 SHALT 1952 d) 26 T9=T 1950
40. Where was the 1931 session of Indian National Congress held?
a) Nagpur b) Delhi
c) Calcutta d) Karachi
AT TS FIUE T 1931 FT AT Fgh ArATHora AT T 97?2
a) YT b) fazet
C) FAdT d) FT=T
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ANSWER KEY:

1 a 21 a
2 C 22 d
3 d 23 b
4 b 24 b
5 d 25 d
6 a 26 b
7 a 27 d
8 C 28 a
9 C 29 b
10 b 30 C
11 C 31 a
12 b 32 C
13 d 33 b
14 d 34 C
15 b 35 C
16 C 36 C
17 d 37 a
18 b 38 C
19 a 39 b
20 a 40 d
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